1	Michael D. McLachlan (State Bar No. 181 LAW OFFICES OF MICHAEL D. Mc	705) LACHLAN, APC
2	44 Hermosa Avenue Hermosa Beach, California 90254	
3	Telephone: (310) 954-8270 Facsimile: (310) 954-8271	
4	mike@mclachlan-law.com	
5	Daniel M. O'Leary (State Bar No. 175128) LAW OFFICE OF DANIEL M. O'LEA	ARY
6	2300 Westwood Boulevard, Suite 105 Los Angeles, California 90064	
7	Telephone: (310) 481-2020 Facsimile: (310) 481-0049	
8	dan@danolearylaw.com	
9	Attorneys for Plaintiff Richard Wood and	the Class
10		
11		
12	SUPERIOR COURT FOR TH	IE STATE OF CALIFORNIA
13	COUNTY OF I	OS ANGELES
15	Coordination Proceeding Special Title (Rule 1550(b))	Judicial Council Coordination Proceeding No. 4408
16	ANTELOPE VALLEY GROUNDWATER CASES	Lead Case No. BC 325201
17 18	RICHARD A. WOOD, an individual, on behalf of himself and all others similarly	Case No.: BC 391869
19	situated,	
20	Plaintiff,	RICHARD WOOD'S EX PARTE APPLICIATION FOR APPROVAL OF COURT-APPOINTED EXPERT
21	v.	BILLS
22	LOS ANGELES COUNTY WATERWORKS DISTRICT NO. 40; et	Location: Telephonic Date: September 4, 2015 Time: 1:30 p.m.
23	al.	Time: 1:30 p.m.
24	Defendants.	
25		
26		
27		

28

1	Plaintiff Richard Wood hereby requests approval of the invoices of GSI						
2	Water Solutions, the Court-appointed expert, which are attached hereto						
3	collectively as Exhibit 1. These invoices cover the period of May through August						
4	of 2015.						
5							
6	DATED: September 1, 2015	LAW OFFICES OF MICHAEL D. McLACHLAN					
7	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	LAW OFFICE OF DANIEL M. O'LEARY					
8							
9		By:					
10		Michael D. McLachlan					
11		Attorneys for Plaintiff					
12							
13							
14							
15							
16							
17							
18							
19							
20							
21							
22							
23							
24							
25							
26							
27							
28							



Mike McLachlan Superior Court of California, County of Los Angeles c/o Law Offices of Michael D. McLachlan 44 Hermosa Avenue Hermosa Beach, CA 90254 June 03, 2015

Invoice No: 0568.001 - 7

Project 0568.001 Antelope Valley Groundwater Adjudication

Professional Services from May 01, 2015 to May 31, 2015

Task .001 Review Responses / Project Management

Labor

Hours Rate

Hours Rate Amount

Administrative Assistant

Mackey, Emily .50 85.00 42.50

Totals .50 42.50

Total Labor

Total this Task \$42.50

42.50

4,507.50

Task .004 Compile Data / Water Use Calculations / Prep Exhibits

Labor

Hours	Rate	Amount
8.50	275.00	2,337.50
4.00	120.00	480.00
14.50	100.00	1,450.00
2.00	120.00	240.00
29.00		4,507.50
	8.50 4.00 14.50 2.00	8.50 275.00 4.00 120.00 14.50 100.00 2.00 120.00

Total Labor

Total this Task \$4,507.50

Total this Invoice \$4,550.00

Outstanding Invoices

Number	Date	Balance
1	12/3/2014	93.11
2	1/12/2015	345.25
3	2/13/2015	10,723.72
4	3/5/2015	6,885.15
5	4/7/2015	252.90
6	5/6/2015	2,927.50
Total		21.227.63

Project	0568.001	McLachlan Law: Antelope Valley GW Adjudi			Invoice	7	
Billings to	Date						
		Current	Prior	Total			
Labor		4,550.00	69,298.75	73,848.75			
Totals		4,550.00	69,298.75	73,848.75			
		,	,	,			



Mike McLachlan Superior Court of California, County of Los Angeles c/o Law Offices of Michael D. McLachlan 44 Hermosa Avenue Hermosa Beach, CA 90254 July 06, 2015

Invoice No:

0568.001 - 8

Project 0568.001 Antelope Valley Groundwater Adjudication

Professional Services from June 01, 2015 to June 30, 2015

ask	.004	Compile Data / Water Use	e Calculation	ns / Prep Exhibi	ts	
abor						
			Hours	Rate	Amount	
Principal	Hydrogeologist					
Barr	y, Jeffrey		3.00	225.00	675.00	
Senior H	lydrogeologist					
Thor	mpson, Timothy		25.00	275.00	6,875.00	
Senior S	taff Hydrologist					
Fran	nz, Brian		6.00	120.00	720.00	
Staff Env	vironmental Engineer					
Gors	ski, Jacob		1.00	100.00	100.00	
GIS Spe	cialist					
Man	ley, Jesse		7.50	120.00	900.00	
Technica	al Editor					
Carr	oll, Jill		11.50	110.00	1,265.00	
Administ	rative Assistant					
Mac	key, Emily		.50	85.00	42.50	
	Totals		54.50		10,577.50	
	Total Labor					10,577.50
				Total th	is Task	\$10,577.50
				Total this	Invoice	\$10,577.50

Outstanding Invoices

Number	Date	Balance
1	12/3/2014	04
3	2/13/2015	1,337.48
4	3/5/2015	858.71
5	4/7/2015	31.55
6	5/6/2015	2,927.50
7	6/3/2015	4,550.00
Total		9.705.20

Billings to Date

	Current	Prior	Total
Labor	10,577.50	73,848.75	84,426.25
Totals	10,577.50	73,848.75	84,426.25



Mike McLachlan Superior Court of California, County of Los Angeles c/o Law Offices of Michael D. McLachlan

44 Hermosa Avenue

Hermosa Beach, CA 90254

August 06, 2015

Invoice No: 0568.001 - 9

Project Profession	0568.001 al Services from Ju	Antelope Valley Groundwater ly 01, 2015 to July 31, 2015	Adjudication		
Task	.001	Review Responses / Project Manager	nent		
Labor					
		Hours	Rate	Amount	
Admini	strative Assistant				
Ma	ckey, Emily	.50	85.00	42.50	
	Totals	.50		42.50	
	Total Lab	oor			42.50
			Total th	is Task	\$42.50
— — — — - Task Labor	.004	Compile Data / Water Use Calculation	s / Prep Exhibit		
		Hours	Rate	Amount	

abor				
	Hours	Rate	Amount	
Senior Hydrogeologist				
Bondy, Bryan	3.50	170.00	595.00	
Thompson, Timothy	20.00	275.00	5,500.00	
Senior Staff Hydrologist				
Franz, Brian	2.50	120.00	300.00	
Staff Environmental Engineer				
Gorski, Jacob	6.25	100.00	625.00	
Totals	32.25		7,020.00	
Total Labor			•	7,020.00
Reimbursable Expenses				

R

Travel		3.00	
	Total Reimbursables	3.00	3.00

Total this Task \$7,023.00

Total this Invoice \$7,065.50

Billings to Date

	Current	Prior	iotai
Labor	7,062.50	84,426.25	91,488.75
Expense	3.00	0.00	3.00
Totals	7,065.50	84,426.25	91,491.75



Mike McLachlan Superior Court of California, County of Los Angeles c/o Law Offices of Michael D. McLachlan 44 Hermosa Avenue Hermosa Beach, CA, 90254

September 01, 2015

Invoice No:

0568.001 - 10

Hermosa Beach, CA 90254				
Project 0568.001 Professional Services from Augu	Antelope Valley Groundwate	r Adjudication		
Task .001	Review Responses / Project Manage			
	Hours	Rate	Amount	
Administrative Assistant				
Mackey, Emily	.50	85.00	42.50	
Totals	.50		42.50	
Total Labor				42.50
		Total th	\$42.50	
Task .004 Labor	Compile Data / Water Use Calculation	ns / Prep Exhibit		
	Hours	Rate	Amount	
Senior Hydrogeologist				
Thompson, Timothy	10.25	275.00	2,818.75	
Totals	10.25		2,818.75	
Total Labor				2,818.75
		Total this Task		\$2,818.75
Task .005 Labor	Deposition / Testimony			
	Hours	Rate	Amount	
Senior Hydrogeologist				
Thompson, Timothy	2.50	412.50	1,031.25	
Totals	2.50		1,031.25	
Total Labor				1,031.25
Reimbursable Expenses				
Travel			25.00	
Meals			6.05	
Total Reimbursables			31.05	31.05
		Total this Task		\$1,062.30
		Total this Invoice		

Project	0568.001	McLachlan Law: Antelope Valley GW Adjudi			Invoice	10	
Billings to	Date						
		Current	Prior	Total			
Labor		3,892.50	91,488.75	95,381.25			
Expens	se	31.05	3.00	34.05			
Totals		3,923.55	91,491.75	95,415.30			